Chapter 5 Task B

Work with a partner.

1. 
Cut a piece of string to a length of about 80 cm. Tie the string in a loop. Draw a line segment, AB, of length between 30 cm and 35 cm. Pull the string to form any triangle, ∆ABC, along line segment AB.


[image: image1]
a) 
Measure the length of each side, to the nearest centimetre. Use the side lengths and the cosine law to calculate the measure of (C, to the nearest degree.

b) 
Repeat for at least six triangles, keeping AB fixed. Record the results in the table.
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2. 
Draw a graph of the relationship between the length of side AC and the measure of (C, with (C on the horizontal axis. Explain your graph.

3. 
Is the relationship in question 2 a function? Why?

4. 
Use the graph to explain the ambiguous case for the cosine law.
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